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INSTRUCTIONS TO CANDIDATES
(Use only blue/black ball-point pen in the space above and on both sides of the Answer Shect)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Booklet to ensure that
it contains all the pages in correct sequence and that no page/question is missing. In case of faulty

Question Booklet bring it to the notice of the Superintendent/Invigilators immediately to obtain a
fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
without its envelope.

3. A separate Answer Sheet is given. It should not be folded or mutilated. A second Answer Sheet shall
not be provided. Only the Answer Sheet will be evaluated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space provided above.

S. On the front page of the Answer Sheet, write by pen your Roll Number in the space provided
at the top, and by darkening the circles at the bottom. Also, wherever applicable, write the
Question Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Booklet No. and Set No. (if any) on
OMR sheet and also Roll No. and OMR Sheet No. on the Question Booklet.

7. Any c}aangc in the aforesaid entries is to be verified by the invigilator, otherwise it will be taken as
unfair means.

8. Each question in this Booklet is followed by four alternative answers. For each question, you are to
record the correct option on the Answer Sheet by darkening the appropriate circle in the corresponding
row of the Answer Sheet, by ball-point pen as mentioned in the guidelines given on the first page
of the Answer Sheet.

9. For each question, darken only one circle on the Answer Sheet. If you darken more than one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once filled in ink cannot be changed. If you do not wish to attempt a question,
leave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Deposit only the OMR Answer Sheet at the end of the Test.
13. You are not permitted to leave the Examination Hall until the end of the Test.

14. If a candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.
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No. of Questisns/swwt ¥ wowr : 150

Time /%% : 2 Hours /W Pull Marks/qorts : 450
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(a) Section—I consists of 130 Objective Type Questions.

(%) wve—1 # 130 wxRwet y& ) '

(b) Sectica—Il consists of 20 Objective Type Questions on (i) English

. Language and (i) Hindi Language. -

() wes—u1 % 20 st yo (i) R W AR (i) D W ¥ W R
Ry £

A candidate is required to. bt as many questions as he/she can of
Section—I, and questions of ONE of the TWO Language papers

aall 3 R ¢ 5 w1 0 w0 & () WA W (i) A - IR &
s wE & = W)

Each question carries 3 marks. Ome mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted question.

WE TH 3 3% W 8 wE e W ¥ AR e 3w we wen | ww

W W YWE g 0w ‘

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

!&Whﬁtmw@mtﬁwzmﬁ,ﬁﬁum;mmil

Each question is followed by Four alternative answers (1), (2), (3) and (4). Only
one of these answers is correct. Select the correct answer and record it against
memtquemnumberbydnrkming_thedrdem'thhnmmhm
the Answer Sheet, as per the guidelines.

W 7F & wR R aw gwr ™ § AR (1), (2), (3) T (4) WA § zefa
AR ER R R ECE BIE E B XK B R OKCE TR

. TM-W R wewwd vE Fen & weR Pl . ”01* '

® 0 wen = 2w
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(169)

Sectien-1
wog—1

Which factor.is not related with Group Factor Theory of intelligence?
(1) Verbal factor - (2) Spatial factor

(3) Word fluency factor (4) Writing ﬂu_cncy factor
m~mm3&tmmﬁzﬁlﬂmmt?- _

(1) Rr® w7 2 % ww®

(3) RS war FE (4) dEA VAR THE

Time period of concrete operational stage is

(1) 11-15 years  (2) 7-11 years (3) 2-7 years (4) 0-2 years
o um Faea & §a

(1) 1nn-1s= (2 7-11 ad (3) 2-7 =4 4) 0-2 =¢
Which one of the following is related with theory of intelligence?
(1) Pavlov (2) Thorndike (3) Skinner (4) Bandura
fra & ¥ A afz ¥ Rigm @ wafe X7

(1) dfewtfa (2 s 3) A (4) ¥
Psychology is a positive science because it is concerned with

(1) how we ought to behave (2) how we actually behave
(3) facts as they are (4) Both (1) and (2)

TR @ v Rye Wi W waen

(1) = %3 sgaEr =1 9 (2) ara # ¥ A gaErR F=@ £
(3) wa XA £ @) (1) 3t (2)
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8. Play group of teenagers becomea more

(1) deselective (2) selective (3) unorganized (4) can't say
Rt w1 o W M aftew

(1jmﬁmt ' (2) ST W I R

(3) awnfa ¥ wwm R @) ¢ @ W TN

6. Ivan Pavlov is famous for his contributions to Psychology, but he was actually a

(1) Linguist (2) Physiologist  (3) Zoologist (4) Botanist
WA Weels FRYA § 3R et ¥ RR R §, vy W o

(1) e & (2) wRFw dwPe ?

(3) < Ay ¥ ' (4) wwly

_ 7. Trait approach to personality assumes that

" (1) people are motivated by uncangu’oua emotional conflicts
(2) each individual has stable personality characteristics
(3)" people’s thoughts and beliefs are central to personality
{4) people have an innate tendency to become self-agtualized
wfbre & whermw FT A T b B

(1) i aNT sRTRes 7X TR wRiRe @m R
2) s & v v e © fAvd @ €

®) s & frer i e st & ¥ 3 9§
) =fs ¥ v e ® e i Rt .

(169) 3
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10.

(169)

The method of Science requires that independent observer must
(1) verify data

(2) state a hypothesis in a fonn that can be tested

(3) d_crivc a hypothesis from theory

(4) All of the above

fm & Aft f ohn @ 2 B @ sETwt Pfte s @

(1) test w1 g W

) wﬁ!ﬁmﬂmmznmﬂ
(3) = fgrn A chwee ww Wt

(4) I ot

Which method of Educational Psychology is not objective?
(1) Experimental method (2) Survey method

(3) Clinical method (4 Introspection
frm 4 2 & e Ry @ wgPe AR T A7

(1) wrmes At (2) wdew AR (3) Parmws At (4) =l AR

Which one of the following is not related with associationistic theory of learning?

(1) Paviv (2) Thorndike _ (3) Skinner (4) Bandura
frm § @ 7 arwday @ Wi Wt 47

(1) dfaata (2) Huoyw (3) = 4) w=T
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Bducational Psychology

(1} is limited in classroom application because of its research orientation

~ () is built on the results of controlled experiments wit.h-.objective outcomes

18.

13. '

(3} is composed of a series of related principles and theories that can help enhance
hi )

(4) as a science describes what learning is, and as an art describes who students are

o wifawm

(1) ¥ 59 & I 7% @ @ifa ¢« ¢ e t
(2)'ﬂﬂﬂhﬁiﬁam%ﬂﬁuﬁqﬂtmm’imgwk

3) mﬁmdwﬁﬂmﬁi@mﬁzﬁﬁﬁﬁﬁﬂmamt

(4) wmtﬂumt&aﬁnmt,mqmﬁmmtﬁmmz
Which theory says forgetting is a function of time?

(1) Retrieval theory (2) Interference theory

(3). Decay theory (4) Dual-encoding theory

- Rgm e ) TR oW e e R |

1) polk RgR () wRew RgR Q) s RER (4) Riw-g fgw

Which of the following is not an example of learning?

(1) Shivering when cold (2) Playing cricket
{8) Preferring a book to television (4) Gardening
ot & W e S TR

N = . (2) Iz dww

1

3 a&aoﬂmiwzﬁmm (4) W W8
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14,

18.

16.

17.

(169)

The reservoir of feelings, thoughts, urges and memories that are outside of our
conscious awareness is known as the

(1) Id (2) Conscious (é) Unconscious (4) Ego
sqfedt, Rend, ool aw wifd ®1 vIn AN Tl I IrRww A AW R, B I o R
1) w (2) ¥ (3) s=® (4) sem

Behaviorists say that personality is_thc result of -.

(1) social learning . (2) reinforcement and punishment

(3) behavior of parents _ (4) cultural experiences ‘
s v & s s dhom 4

(1) wmRes SR (2) TE @ T W

(3) ftrrewt ¥ TR W (4) wieplw vt &

In classical conditioning, the sudden reappearance of a response after a period of
extinction is known as

(1) stimulus generalization ' (2) experimental extinction

. (3) stimulus discrimination (4) spontaneous recovery

mmimm‘tﬁaﬁw%mmgmmﬂaﬁﬁmt
(1) Ifvw wmrfam (2) Warmew fas
(3) 3w b (4) wefRE gE-afy

Which of the following kinds of tests are least desirable as a part of school testing
programs? .

(1) Tests of general ability
(2) Achievement tests and batteries
(3) Tests of specific achievement

(4) Personality inventories
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‘P d A fw TR ¥ vlgei W W Reem & vhew s % AR w aieda b7
(1) wrt=a A= gy (2 mﬁ:mm‘m
(3) i swfRy vhgw (4) =afra syfet

18. Punishment is .
(1) removal of a positive stimulus
(2) removal of a negative stimulus
(3) presentation of a negative stimulus
(4) application of an aversive stimulus or removal of a desirable stimulus
t |
(1) wewTS IvE
(2) =owwE 0E BN WA
(3) T IO B Fd TN
(@) T SfrgE T00F T I Fon I T A IS D @ A

19. The main characteristics of cognitive development of a child in the preoperational stage
is

(1) the child’s knowledge of the world is limited to their motor activities
{(2) the child is egocentric
(3) the child can use inductive logic

(4 the child can understand abetract concept

[169) - 7
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(169)

W-dfrs sren & ¥R § qer friven g @

(1) ﬁwmm,mnﬁmﬁrmﬂ‘mmmﬁaMQ
(2) w=n IeRn dm R

(3) = FaA IEE T T AT W T &

(4) = s W B ww 'R

Which of the following is correct?

(1) Classical conditioning usually involves reflexive behavior, while operant
conditioning usually involves more complicated, spontaneous behavior

(2) Classical conditioning usually involves more complicated, af:ontaneoua behavior,
while operant conditioning usually involves reflexive behavior

(3) In classical conditioning, the reinforcement is contingent on the behavior of the
. learner

(4) In operant conditioning the UCS and CS occur independently
e &2 @5 vl 27

(1)rmagﬂq‘im:nﬂuﬂmm«ﬂmtuﬂsaﬁwmim:m
e, Afdw =aEr sfdfm v f

(2)mu3i§aim=w&m=&a,ﬂm“mmm3m&aﬁmmﬂ
Yl =awr wfdfm v R

(3) W s & grbe ey T ¥ =R W AwRe Bm k|

I ) mmﬂ‘\emo{aommtﬂaom“amm!
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31. Reinforcers that arc innately reinforcing, uch as food, water and warmth are called
(1) primary reinforcers
(2) secondary reinforcers
(3) extinguished reinforcers
(4) superstitioup reinforcers
3 gk Rl w ke € W R Y, e
(1) e ge (2) Refs grbew
@) AR g | () s e

22. In Pavlov’s classical conditioning theory, meat powder was the

(1) unconditioned stimulus (2) unconditioned response
(3) conditioned stimulus (4) conditioned response
dfeeit & el A e #§ ote W TeR W

(1) wempefe 30 (2) st i

(3) IR 3w (4) sgufa wfdfiem

23. Which of the following is not learning?
(1) To walk in the hdme (2) To write English
(3) To eat dosa (4) To paint a flower
fa § @ A sfem T X7

1) w & e (2) s fran (3) W W m.’lli_iqgm

(169) ' ‘ 9
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24.

27,

(169)

Personality of an individual can be best assessed with the help of the use of

(1) an inventory test . (2) a performance test

(3) a projective test - (4) survey technique

@ A & wfra &1 w0 srm At frn o gwa 2

(1) @ sgEsh (v¥b) § woam & (2) @ freea vhwo f we
(3) = wA® vhww N wEww (4) wdgu fafy € axma A

is defined as a person’s characteristic patterns of behavior, thinking and feeling.

(1) Attitude | (2) Creativity (3) Personality (4) Temperament

——m\wﬁstm,ﬁmsﬂzmﬂqﬁttﬁmm%mimﬁaﬂmwm
_(1) Ffugfa (2) AN (3) =fra (4) =a -

Who has developed 16PF questionnaire?

(1) Carl Jung (2) Julian Rotter

(3) Gordon Allport " (4) Raymond Cattell

16@otso yrrach # frmd Rwfa fs 22

(1) & gn (2) Ffermm o= (3) "™ e 4) vz ¥ow

: . . . . § '
Which of the following test is used to identify students persistent learning errors?
(1) Norm Referenced Test "~ (2) Diagnostic Test
(3) Standardized Achievement ‘Test (4) Intelligence Test

10
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froffdl @ afem IR N ya =@ & fog fafeRa & 3 A3-w1 vlgw 39gs 27
(1) W% wfifa. vhgw (2) FEEes ghygn
(3) wbrpa Jvafelr qlgw - (4) ¥fg vhem

The ‘rcliability of a test with 40 iti:ms was found to be 0-80. How many more items
should be added to the test to get reliability value of 0-90 ?

40 @ IR @ vhgw € Awadwn 080 T ) frewfiaa w1 R 090 W = F fag
W ttge § B ol v W g e

(1) 30 (2) 50 (3) 40 (4) .60

Spearman-Brown prophecy formula establishes the relation between

(1) reliability and test length (2) reliability and item difficulty
(3) validity and te-st length (4) validity and item difficulty ‘
M—mvﬁﬂi%ﬂmmﬁmﬁamt?

(1) feeden @ e § v 2) Rawhma @ w2 € wd

(3) A v & @) Avm @ w @ w

»
Amit scored 60 in Science Achievement Test for Class VIII and 65 in Maths Test. If the

mean and SD of scores on Science was 50 and 5 and of Maths teat was 60 and 6, then
which of the following statements is wrong?

(1) Almost 98 percent students performed below Amit in Science

(2) Amit performed better in Science than in Maths

(3)  The »-score of Amit in Science is greater than that in Maths

(4)  Amit performed better in Maths than in Science

11 @P.T.O,



14P/246/30 Set No. 2

31.

33.

(169)

aﬁaiwntﬁm@iwﬁmmﬁuﬂaim;soﬁssﬁmmﬁmt&ﬁm'
vhew W MW Wi 50 @ wE feem 5 R 3 Rm vlww W aftwm Wi 60 W@ WEE
fraea 6 ¢, m Rofafra § f-w s sww 27

(1) wmm 98 R Rrardl Ry vhew § wfm @ Wi
(2) afm 6 gy Pm ® Na Ay § w2

3) fRwm & aftm w1 z-wwiw 1w A aftes R

@) fom ® R P § afm N vaf afs 2

The quick and crude measure of variability is

(1) range (2) standard deviation

(3) quartile deviation (4) ‘average deviation

—— e WA IR R T Wy o R w W A

(1) ¥R (2) W% fraem (3) wqutw e (4) s faaem
Perception is the first level of — domain of educational objectives.

(1) cognitive (2) affective | (3) psychomotor  (4) None of the above
vl dfwe R ¥ —— ¥ W e ww A

(1) wevew (2jwm (3) wAraTE® . (4) 30w F A }NE A
The ratio of true variance to total variance is termed as

(1) reliability coefficient (2) validity coefficient

(3) correlation coefficient (4) coefficient of kurtosis
mmw’wmtmd———mtl

(1) frfaan s © () dum s

(3) wew=ww TuiE (4) T oI

12
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» Which of the following is not true for cssay test?

(1) Construction of cssay test is comparatively casier

(2) Sooring of cssay test items is difficult |
(3) essay test is not suitable for evaluation of higher level mental abilities

(4) objectives are not well represented in cssay test
g § 3 Ww-w P wOgr & fg W It 27

1) ﬁ“hm.ﬁhwimt

2) New vun & wwis o o ol
G G U U P ——
() i vown % ket = YO dehe ot B

Thcnhnofg:o@dentqurto.hformalprohbﬂttycurveia

oy WhOw W & T e W o —— R
(1) 0263 @ 263 (3) 00263 4) 0126
-ﬁmwdmmw;ymmmmtedby
(1) Perre Simon (2) Carl Priedrich Gauss
3) Marquis De Laplace (4) Abraham De Moivre
C e ot W W e e —— 3 v few W)
1) OR = 2) i dubmaly:
(3) g & ' @ “‘»h
13
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37.

38.

39.

41.

(169)

The standard deviation of scores, 1, 2 and 3 is

WHEH 1, 2 @ 3 W A fwem R

(1) 041 (2) 047 (3) 067 (4) 0-82
The shape OIf a distribution is mainly determined by

(1) skewness and kurtosis (2) skewness and dispersion
(3) central tendency and dispersion (4) kurtosis and dispersion
fft e % smaw = fofe e A o Ren s 7

(1) T & wFem (2) sFm W fEE

@) ¥ Wt @ free ) v @ Reiw

mﬁtwﬂz%mq&mﬁmm:p@thﬁmmimikwuhw
R am, A e wra @@ wEw Raem v

1) p+k, q+k (2) p, g+k B) p+k, g 4. p q

The mean and standard deviation of a distribution are M and s respectively. If each raw
score is doubled, then the new mean and standard deviation would be

@ﬁmw%mq&mﬁmmzuﬁsilﬂﬁmmmiGﬁmw&m
Y, A 7 wrm vE aEE fRwem _ ’ '

(1) M,2s 2 Ms - 3) 2M,s (4) 2M,2s-

The standard deviation of a set of scores is k. If each score is multiplied by x, the new
standard deviation would be

mﬁ%u&wmhktluﬁmmaﬁxﬂwwﬁmm.am
wE fgew @m

(1) xk (2 k B) k+x 4) k-x

14
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A shoe company wants to plan its production palicy according to the sale of different
size of shoes. Which of the' following will be most helpful?
(1) Mean . (2) Mean dcvi;tion
(3) Mode : (4) Standard deviation
@ qm-Rein W sl e Ay B Afte e ¥ fofle Gt ¥ e @ daw woen T

L ¥ @ f9-a waifes a9 wm?

(169)

(1) wrea - (2) e fwed (3) womsft (4) W f=ew

'lhemeanofaacto(h‘aoorcsiaH.lfcnchofthcrawaooresisinaeaaedbys,thencw
mean would be

Ny F o MY R A e ws § 5@ 3.3 a4 w Ra ag, @
T W v Wity .

. L ]
(1) M+3N (2) 3M+N 3) M+3 @) 3M+3

In the case of a negatively skewed distribution, which of the following is true?

(1) Mean is greater than the median

(2) Mean and median are equal

(3) Mean is less than the median

4) ilo such conclusion may be drawn

T ¥ A I A & R d A § Y dw v

(1) v ey 3w d (2) W @ WfehE wwe &
(3) W wfthw ¥ T R . (4)tm-’tiﬁuhmim.

i a distribution of scores is positively skewed, then it can be stated that the test was of -
(1) average difficulty

(2) low level of difficulty
(3) High Jevel of dificuity

(4) No mych conqlymiem may be drawn
15 §. RTO)
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47.

(169)

W e W e FEReE S % 3F A, M Tk W& A wwn X ol ——— aren @

(1) hwn whar , 2) et s
(3) Tewaldy wil3g _ 4) T = folr v

The size of the class-interval in a frequency distribution is 5. If the lowest score is 13,
then the lowest class-interval would be

w Igfy e & Fi-smwa w1 wwr S5 A AR faoem w13 @, @ e Fi-swe
o

(1) 10-14 - (2) 13-18 (3) 10-13 @) 12-17

The real lower and upper limits for the class-interval 15-19 are respectively
L ]

(1) 155 and 195 (2) 145 and 185
(3) 14'5 and 195 (4) 155 and 185
#-FW@ 15-19 R Il @ IR dwd wm: — v &

(1) 155@ 195 (2) 145 185 (3) 145 @ 195 (4) 155 @ 185

A particular score value appears in a distribution n-times, n is known as its

(1) measurement (2) frequency (3) class-interval (4) mid-point
:%m::mwmiin-mﬁmw_t,nﬁ-m % w0 & I F@
(1) WA (2) wmgfx (3) wi-Fwm @) wa-fag
Inordertohelpharnertomakeaoorrectmpunninalh:mm

(1) use of visuals is made - (2) use of prompts is made

(3) use of frames is made (4) use of blanks is made

16
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T Wl s wgtv W 3 s R § e € T S R

(1) ot W RAwer fsr v # (2) %3 w1 wme i amn R

(3) 3% w wWwe fn amm @ (4) R wR W W@y fmm R
The first teaching machine which couid test as well as teach was developed
(1I) in 1919 " (2) in 1920 3) in 1921 " (4) in 1922
et frew i RN RER ¥ T @ e f ® T @ ReRe @

(1) 1919 % (2) 1920 ¥ (3) 1921 # 4 1922 % -

Intheprind;ﬂcofactivcreapondinginpro@aﬁlnmingmat«ial
(1) maiimpuﬁd.mponntoquuﬁnn
(2) emphasis is on frequent response to questién

(3) emphasis is on incomplete reupon.e to question

- (4) emphasis is on own response to question

M FR0 wwh § afkg 3T 3 F g &
(1) ¥ ¥\ W wiftme SR W &

@ dtm.wmufﬁmmt

(3 W ¥a R aqh N0 w L

@ W v ® A @ i W}

Amthoddteadmngwhmhmmo.tuutablcwhmwemmtmngmhrgenumbuof

eintlents in ices time

(8 Loogare @) Project  (3) Explenetign . () Heysistic
”‘“dwmiwm*'ﬁ*m““w*mf o
(1) == (2) wRE (3) - Wﬁ' ,e s

17
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53.

56.

(169)

The major drawback of lecture method of teaching is

(1) students learn at fast pace

(2) teacher can teach at slow pace

(3) students do not find time for discussion and critical study
(4) teacher can initiate critical study

fingm € s Aft w1 6 aoht R

(1) o ¥ 7 & @

(2) fogw dnft nfa ¥ fren v &

3) o1 w=i M weEpl wwwm & g TR A REe W

(4) fgw i e I W T ¢

-

The eclement of teaching model that constitutes the objectives and aspect of
environment

(1) syntax (2) focus

(3) support system (4) social system

Rt 3 wfaw o F TS ¥ wARw g wfza @ R

(1) ¥ (2) wwE (3) weE® woneh (4) s =ae

The Symbolic-Iconic-Enactive stages of cognitive development theory was propounded i
by ] _

(1) Jerome Bruner (2) Jean Piaget
(3) David Ausubel (4) Lev Vygotsky
TIATs fawm ¥ wdterers-wifda-faums s & yaas §

(1) ¥ Fx 2 e . (3) Wz A (4) A3 AR
The information theory in communication i.s based on the works of

(1) Wilbur Schramm (2) Leagen

(3) Aristotle |

(4) Shannon Weaver

18
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TR # arert Rigra frad w1 w aaRa 47
(1) Rew wm (2) & (3) W @) A

87. Linear program is based on the principle

(1) to explain subject matter (2) to draw conclusions

() to provide same path (4) to give remedial instructions
_mmﬁamﬁmﬁmmmtnt_

(1) R § swen w1 (2) Fromé B

(3) & & WM WA w - (4) e REa 2

88. The error rate of conventional linear program

(1) is high (2) is moderate (3) is average (4) is low
Teais Wi sfesfa e @ IR )
(1) 3= 2 (2) wom R @) Mwad (4) = 8

89. In microteaching practice the pre-instructional skill is
(1) skill of reinforcement
(2) skill ol'.intl"oducing lesson
(3) skill of explanation
L) uhll of writing instructional objectives

g™ g s W qd A wha 2
) I . ' ) : .
o vow w e 2) w5 weme ‘“;'"" -
(3) W ® wea (4) Wﬁﬂw

(169) 19
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60.

61.

(169)

Oral visual switching while ‘teaching
(1). mdwatcs shifting of sensory channels
(2) indicates shifting of questions

(3) indicates shifting of students

(4) indicates shifting of furniture

firgw & o3 u-w= ofadw

(1) 34 A5at & wmaw N a w=w R
-{2) T & WA B W R

(3) wrt ¥ wEem W fa =@ R

(4) wiR & wETw B P o= R

Focusing is a componmf of chg skills |
(1) stimulus variation and probing questions
(2) probing question and blackboard writing
(3) blackboard writing and stimulus variation
(4) sfimulus variation and reinfofoemcnt
wR-F2a gy e W @ wew d

(1) 3w hada st gt v

2) W e o whward A

(3) ®Fd duww M I vhads

(4) 0w ofada ot gk

20
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Principles of small steps in program instruction means

(1) create ladders . (2) divide steps

(3) break content in parts (4) omit content
s s ¥ 9 wm & RigR W waew R

(1) #H w=g (2) *t w1 faarem
(3) wawawg R fiedt F AF (4) weuEg # By 3

What is the media using more than one means to convey information called?
(1) Mass media  (2) Broad media (3) Mobile media (4) Multimedia

. o,
® ¥ A w1 I wQA g M A I 2 D w0 oww @ 2

(1) = i (2) = e (3) Wrwma Mk  (4) wedndRRa

In the inductive approach of teaching learning
(1) proceed from example to example

(2) proceed from rule to example

(3) proceed from example to rule

(4) proceed from rule to rule

figm sfrm € s S9rm &

(1) e ¥ Tew & o am w3

- (2) " @ Frm % R o wd

(199)

(3) From @ Zew & R s w3

4 Frm A P & o o w§

The home page of the intrinsic program has the follewjng, .
() negative confirmation (2) positive conficgas ‘
(3) repeating confirmation (4) further confomation

21
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' 67.

(169)

st sgda § e gu fataia R

(1) Twrere gfe

(2) wewew 3 (3) g ek

4) sm § g

Edusat the educational satellite was launched

(1) on September 25, 2004
(3) on September 15, 2004
L2 rd iﬂim‘ I & e mn @
(1) R 25; 2004 #

(3) R 15, 2004 #

Introduction is a form of teaching
(1) which changes habit

(3) which informs

Rz firgw w1 T w9

(1) N s ¥ ofada =t

(3) < I 2w R

(2) on September 20, 2004

(4) on September 10, 2004

(2) fama 20, 2004 #

(4) @ 10, 2004 = |

* (2) which modifies skills

(4) which form_a belief

(2) N Ny N FofE w=m R

(4) S JTEn =@ R

The communication channel works in the following order

(1) Decoder - Encoder - Message —» Media

(2) Sender - Message - Channel - Media

(3) Message -+ Media -+ Sender —» Receiver

(4) Encoder -» Sender —» Message - Decoder
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W dw A T

(1) et - Eww - W - Az
2) Yw - W - I o dHfEw
(3) Wu - M - I o fefm
P I S S

In Edgar Dale cone of experience

(1) most concrete experiences are at the top

- (2) most abstract experiences are at the top

"(3)" most- abstract experiences are at the bottom

.. (4) most conerete experiences are missing

71.

(169)

v WR @ uF F
(1) wR 3w agva Mf = & 2) =R o sgwa il w §

(3) "R g s A (4) "W 3w agwa 7& &

A visual representation of a particular domain which is complex is provided through

- (1) picture (2) chart (3) concept map - (4) power point

w i & @ wRa ¢ W g P R dem @ e fen st
(1) Ra (2) I fs) FegeR T (4) R 9§

’

The repetition of a particular information comes under which level of cognitive domain?

(1) Knowledge (2) Understanding (3) Application  (4) Analysis

Mﬁﬂwwﬁmﬁmﬁhtﬂmmﬂﬂh\______-_:-__:,_,
(1) ¥ @) R9 @ wWm g S

23 @10,
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72. Syntax of the teaching model is
(1) description of model in action
(2) central aspect of a model
(3) roles and relationships of the teacher and student
(4) additional requirement of the model
firger atea 1w &
(1) wdat & afza w1 o - (2) @ uTze W R T
(3) frgw-wmy N yfrwd ok R - (4) wew 6 afdfer v

73. A teaching model based on basic psychological principles was given by whom?

(1) Robert Glaser (2) David Ausubel

(3) Carl Rogers (4) Jerome Bruner
mmmvmmwafkqtmftmmm

(1) T = (2 s mdw (3) W o (4) R W

74. Which of the following teaching model belongs to the family of information processing

models?

(1) Advance Organizer Model (2) Basic Teaching Model

(3) Non-directive Model (4) Jurisprudential Model
ﬁqﬁmaaa@mmammmtmt Fafa amn @, ax
(1) ™ smrem ahea ' (2 7@ Rrgw nfee

3) -Few & wrem o @ TRERIe wtza

(169) 24
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The NPE, 1986 envisages education as

(1) investment (2) national program
(3) return . A (4) social program
T e Y, 1986 F T w AR R T R

(1) PRw & =y & ' ‘ (2) T wwm ¥ w9 3§

(3) wwrmE % = & (4) wrnfe wnlEy ¥ v F

TheSUPWhubwnin&oduoedintheuchoolwrﬁeuhmduewthefecommmdaﬁgn of
(1) the Kothari Education Commission '

(2) the lshvarbhai Patel Review Committee

" (3) the Secondary Education Commission

(4) the University Education Commission

MMismmmﬁnﬁ&ni%ﬂmmﬂmtmmﬁm
T W7 '

(1) W e swim (2) oo Rw whar s
(3) i R s ) (4) Rrafrger firm smm

Wardha Scheme was related with

(1) Nebru (2) Tagore (3) Gandhi (4) Aurobindo
i o ¥ wafla. ¥ |
©(1) Y (2) &in @ e Y 8
25
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78. National Education Commission was appointed for

(1) Primary Level Education (2) Secondary Level Education
(3) Higher Level Education (4) All Level Education

e i s & fgw e o @

(1) s = R A s Ry @) T = B frm & R
(3) wigpa w6 fw ¥ fag - 4) af = € fimn ¥ R

79. In which year Operation Black Board was launched?
Ay &F N2 A9 frm ad aop § w?

(1) 1999 (2) 1998 -_ (3) 1992 (4) 1993

80. Establishment of rural ﬁniversitiea was recommended by
(1) Mudaliar Commission (2) Kothari Commission
(3) Radhakrishnan Commission (4) Sadler Commission
v freafraredt ) T @ geE e w3 R @

(1) gafem sm@m (2) #ed smm (3) TUFWR JWM  (4) VTR @M

81. Acharya Narendra Deo Committee II divided the high school curriculum in how many

parts? : -
(1) Two (2) Three (3) Five (@) Slix

e T3 33 @Ry 11 X wbege @ grewwdi @ e it § at @

(1) F 2 = (3) = @) ®:

(169) 2
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10+2+3 educational pattern was accepted in which National Education Policiy?

10+2+3 firer a=w s i A AR 3§ wfwr ® A7
(1) NPE, 1992 (2) NPE, 1987 3) ‘NPE. 1979 - (4) NPE, 1968

Who proposed the three language formula?

(1) Radhakrishnan Commission (2) Mvidaliar Commission

" (3) CABE ' (4) Kothari Commission

v @ W wdem e e Rt

(1) TeRpwe awm ) mm\n
(3) ¥ fAre wemEER AE (4) WS FRm

Mudaliar Commission divided the secondary level curriculum in how many parts?
TR WA 3 s ' ¥ TemEn B e @l § Refa R a?
ms @ 7 . 3 8 @) 6

Which Christian Missionaries came first in India?

(1) Portugal  (2) Dutch (3) French (4) English
wa § winw da-@ fard Pkl o @7 '
(1) qimeht (2 =9 (3) wikh (4) v

Shahjahan called which Mualim Education Centre as Shiraze-aie-Hind ?

(1) Delhi (2) Agra (3) Firozabad (4) Jaunpur

Wiﬂwgﬁnﬁmhﬁﬁm«—hwm )

(1) Rt @ @ (3) Rz TR . S
27 |
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87.

88.

89.

91.

(169)

Who established Madrassa-e-Muazzi in Delhi?

(1) Qutub-uddin Aibak (2) Ntutmish Aibak
(3) Humayun . (4) Aurangzeb
R # Terwr-g-goreh § wn R W @7

(1) IR TE (2 WP s (3) @ (4) hora

What the centres of higher education were called in Muslim period?

(1) Maktabs (2) Mad.r_assa. (3) Khankaah (4) Dargaah
gfem w1 # 3= i i aew 6 et § o dt?

(1) Wt (2) wewEt (3) EwR (4) zomet

Which was the first university of the world?

(1) Takshila (2) Nalanda (3) Vikramshila (4) Vallabhi
TOR w1 sy Rafoem @ .
(1) wafien (2) == (3) fwnfien 4) Tft

Which was the main centre of education of medical science during Buddhist period?

(1) Takshila (2) Nalanda (3) Vikramshila  (4) Vallabhi
@2 @ § R fwm @ i = wa ¥ @
(1) wmfhen (2) F&= (3) fowfien (4) agwh

What was the main aim of education during Vedic period?
(1) Physical development (2) Growth in knowledge
(3) Spiritual progress (4') Moral development
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0 v § o v qm | o |
(1) wifw fwm (2) Y= g3 (3) yefadw safa  (4) M= fwm

92. Which of the following is not the aim of Sarva Siksha Abhiyan?

(1) Universal access and retention in elementary education

(2) Bridging the gender gap and in the access to elementary education

(3) Bridging the social category gap and in the access to elementary education
“) UM access of secondary education

R & ¥ d-w st afRE W Stw T 27
(1) mﬁ:ﬂmimmmm

(2) e g o e § fm srewm ® = '@ _
3) !ﬁthmwﬁimﬁtwmﬁwm
(4w woRe A o Tge

93. The concept of reference groups has been given by

(1) V. Pareto (2) P. Sorokin (3) R. K. Merton  (4) Ogburn
= Wk € e e 4 {2
(1) ®o RA (2) fo s (3) Mo o W (4) hmd

94. In social evolution: theory of Auguet Comte, which of the following is the first stage of
societal development?

(1) Metaphysical ~(2) Theological  (3) Mikitesiatic (4) Positive

Fmz w2 & sl xR Rigra & arnfie ﬁ‘n,mﬂ% e
Vo &

(1) v s (2) oW (@) Sy - DR

(169) o 29
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9s5.

97.

(169)

Which of the following statements regarding physical pmlia.hh:cnt in schools is not
true?

(1) Use of corporal/physical punishment in schools is a non-pﬁm’shablc offence
(2) Use of corporal/physical punishment in schools is a punishable offence

(3) It is against the human rights of the children

4) It harms the dignity of the child

foaem § wifs 2 & g § A-T T WA {7

(1) froem # wife 298 3N wEda aww T R

(2 froem % wifs g 20 TwAT Jww R

,(3) & W ¥ Fraived & Ry {

4) nﬁitmm\.wq@m%

Which of the following philosopher and educationist emphasized the role of education
in democracy?

(1) John Dewy (2) Froebel (3) Pestalozzi (4) Rousseau
P & A frm Zuifs frgrod 3 o & A ) qfe W g ww Ra b7

(1) & (2 wha 3) ¥t 4) &=

The concept of social capital is given by

(1) P. Bourdieu (2) K. Marx (3) M. Apple (4) Sorokin
s {ft i sawron e & 22

(1) do ¥y (2) %o wred '(3) To T (4) W
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Which of the following: is not included m UN Millennium Development Goal?
(1) Eliminate gender disparity .in primary and secondary education by 2005
(2) Eliminate gender disparity from all levels of education by 2015

(5]- Achieve universal primary education by 2015

(4) To provide universal vocational education by 2015

R & 3 d-w1 aye mp TR Rew ww § afRkE 1@ 27

(1) ¥ 2005 ¥% yufiw iR Arafrs frn } fBm sRE B Taw =@

2 HQOlsmﬁmtwmﬂ%ﬁnmﬁmﬁ

(é) W 2015 ¥ s wefe fgr e

(4) ¥ 2015 =% i =i fgn 20

Who had presented Universal Elementary Education Bill in Imperial Assembly in
19117 :

(1) S. C. Banerjee 2 G. K. Gokhale

3 Lokmanya Tilak " . (4) Lala Lajpat Rai
ﬂlQlliWﬁMiﬂmﬂaﬁaﬁmmﬁm‘_ﬁ‘mWMm?

(1) Wo o wwll (2) fo Fo @A (3) AW ATE  (4) TN A T

Whohu written Deschooling Society ?

{1) Ivan lllich  (2) Paulo Freire (3) John Holt (4) Iva Shor

‘ Messhnoling Society v -t 47 '-

(1) o whw . (2) @ R (3) W W03 BN
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101. Which of the following sociologists has given the concept of manifest function and
latent function?

(1) R. K. Merton (2) K. Davis (3) T. Parsons (4) K. Mannheim
frafafas ¥ ¥ e aaeesh 3 e v i w=ow e 6 s|uren & 27

(1) 3o Fo WA (2) Fo (3) Ao wmE=w (4) ¥Fo wAdW

102. The tendency to evaluate ones’ own culture as superior is called
(1) xenophobia @ cultural relativism
(3) ethnocentrism (4) acculturation
o R W eGP A A T R R R TR
(1) fRfimd & sRr fedor (Rerafan) (2) wrepfew anie

(3) TR . (4) wiepfw wEAN (@eatTA)

103. Annihilation of Caste is written by

(1) Jyotiba Phule (2) B. R. Ambedkar
(3) M. K. Gandhi (4) G. S. Ghuriye
Annihilation of Caste fa3 fovaht 27

(1) safen @ (2) o FRo InATW
(3) We Fo it (@) o o TRy

104. Which of the following statements is not true about caste?

(1) It is a closed group (2) Itis suppbrted by endogamy

(3) It is an open group (4) It is a hereditary status
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Rl 1 2 oR & waw § Ma-m ww o 27

(1) ™ W et (2 = it R i b
3) ™ gwm W b . 4) T @ e Al t
Which of the following is an example of open stratification?
- (1) Caste-based stratification (2) Gender-based stratification
(3) Class-based stiatification (4) Race:based stratification -
mijtq&umwamﬁ?
(1) wR-wweky wiew 12 ﬂnmm
3) -tm:&m | (4) FaR-smeiy TOw
Whmaponpnmdmobﬂnyummdhmdmthumalgmuphm
it is called °
(1) Mtnmdnlmobﬂi.l;y ) mctum-mobﬂi:y :
(3) cultural mobility (4) relative social mobility
MEMEER RN TR IO RS vl F ot §, @R E
(1) Py welvs TRfiom (2) wTwwws hrfern
) wivphe wheden (4) WRRes wwnRes aRvderm
Which of the following statements is true?
(1) Culture is a learned” behavior (3) Culture cannot be transmitted .
(3) Culture is hereditary (4) Culture is non-cumulative
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108.

109.

110.

(169)

fafafes & @ ¥¥9-w F@ 79 X7
(1) wepfe & dran gan =qaEn ? (2) ¥FR & wawm @ | O
(3) wepfa Fwgma R @) TR -t od R

When material culture changes fast in comparison to non-material culture and creates
an imbalance in social structure, it is called

(1) cultural field (2) cultural distance
(3) cultural lag (4) cultural shock

mﬁﬁnmmmﬂmﬁﬁamm&mmmﬂ
FEg B R, A W R B o £

(1) wrgfew &= (2) wrepies b

(3) wrepRyw. e , (4) WrepRYE ST

Which of the following sequence is chronologically correct?

(1) Plato - Socrates —» Aristotle (2) Aristotle - Socrates — Plato
(3) Socrates - Aristotle — Plato (4) Socrates —» Plato — Aristatle

e % sgen fm & @ ¥h-w ww wd b
(1) @A 5 g&w - s|wq . (2) Y > TWE > @A
3) FRW - IR - @/ (4) gF@ o @A - NY

Which is the book written by Aristotle?

(1) Emile (2) Republic (3) Politics (4) Mother
W T foreht qaw da-a 27

(1) ¥ (2) o (3) wifiRwm @)
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111, Which is the famous books was writter by Plato?

(1) Politics (2) Democracy  (3) Republic (4) Sophia
AR R H R e - 47

(1) vRRw @ ¥# (3 AR (4) afn

113, Wbiqhdthehﬂawingutofimﬁmﬁansmfoundalonﬂmughtsofhami

(1) Auroville : (2) Theosophical Schools

(3) Gurukulas '(4) Marwari Schobls

e T W Pa-u v e & A W ol R w?
(1) wife (2) fereren wgew

(3) Teyet & L @) et o

113, Pngmmun developed in
(1) India (2) Britain (3) France (4) America

| v —— # frefi 1 3]
(1) W 2 (3) wiw @) i

116; The concept of ‘negative education’ was given by | ’
(1) Plato (2) Socrates ‘ (3) Froebel (4) Rousseau

WM'ﬂm;tmaﬁﬂl
(1) @ (2 g&@ - (3 SN« (@) ==

(2089 - 35
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118. Which one of the following was established on 28th February, 1968 ?

(1) Viswa Bharati _ (2) Belur Math

(3) Auroville (4) JNU

28 s, 1968 W f= % A fewl v A7

(1) fre st (2) ¥ W (3) R (4) AoWoYo

116. Which is called ‘a city of universal culture’?

(1) Venice (2) Rome (3) New York (4) Aurowville
fd e vl W w e e W Y
(1) ¥ 2 Iw ( (3) wrb (4) Ao

117. “Teaching while walking is the best method of ‘teaching.....” Who said it?
(1) Sri Aurobindo (2) R. N. Tagore |
(3) Socrates (4) Swami Dayananda
“wed-fed g w1 fgw @ Ay iy L. T e W @

(1) o =Rz (2) Mo Wo X (3) FEmW @) @it AR

118. ‘Craft-centred education’ has been emphnmmd in

(1) Kilpatric Plan - (2) Delton Plan
(3) Buniyadi Shiksha (4) . Yoga Shiksha
—— % ‘vg-win i’ w we e T Ry _
(1) f&AR™ Fwen 2) wer W
@) YR farm 14) am fren
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119. Who emphasized education for 3H’s?

(1) Froebel . (2) Montessori
(3) M. K. Gandhi (4) R. N. Tagore
‘3H @ g ® e v R {7

(1) wha (2) wrwd (3) Wo He et (4) ARo Wo &N

120. Who bas written the book Cultural Heritage ?
(1) Dr. S. Radhakrishnan | (2) R. N. Tagore
(3) Abdul Kalam (4) J. L. Nehru
Cultural Heritage 7% Jea% 5 Reah 27
(1) o THo TURFWH | (2) Mo o ¥R
(3) @ w=W (4) Ao Wo Iww

1321. Experiment is encouraged in
(1) Idealism + {2) Naturalism - (3) Pragmatism (4) Existentialism

R —— & agan R amn R
W ez (2) wRER (3) n’lm‘ @) sfR=AR

128. Problems of value are studied under
ﬁ) ldﬂ ' (@) Axiology (3) Epistemology (4) Metaphysics
‘rmﬂhm—%mh“& Y S T
' m-"xfa‘!:_ dog i
il ) ol

e 37
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123. Problems of reality are studied under

(1) Axiology (2) Logic (3) Metaphysics (4) Epistemology
Fwd Tl wnaslt & e ¥ swia w1
(1) Twa e 2) whww 3) @ dwiwm  (4) ¥R dwiE

124. Which one of them is a naturalist?

(1) Dewey (2) Froebel ~ (3) Rousseau (4) Pestalozzi
= % A ¥ syl R
(1) & (2) whw | @) w& (4) d=garh

128. “Laboratory School’ at Chicago was established by whom?

(1) John Dewey (2) William James
(3) Kilpatric (4) Proebel
fireet & AMA Tga’ N e ok g @ 0 H7
(1) ¥R o (2) fafrm (3) fetft=w (4) wha

126. Which one of the following is an Idealist?

(1) Rousseau (2) Plato (3) Dewey (4) William James

Pefafm & @ ¥ amedard R7

(1) &= (2) @A (3) *h (4) fRferm g
127. Which of the following is/are part of our cultural heritage?

(1) Abhay (Fearlessness) _ (2) Ahimsa (Non-violence)

(3) Asanga (Non-attachment) (4) All of the above
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Pt # ¥ # T wiepRe R o s R/E?

(1) = (2) fl (@) wm (4) W= ad

128. The ideal of Dharma found its social application in the concept of

in ancient
India.
(1) Ashrama Dharma (2) Varnashrama Dharma
(3 Moksha (4) Both (1) and (2)
s s & o & ol B e wwm % ww  wh owd b
(1) smm wi (2) woiww wi | (3) & (4 (1)@ (2 2t

129. According to concept of Purushartha a ‘good Iife' recognizes

value(s) in life.

(1) one (2) two . (3) three (4) four
% TeE ¥ SgER @ wee fm —— TR/ B Rt s b

1) w @2 @) @) =

180, Iﬂmq.lhy deald wtth —_— quesuons

DA oY LR G . , : IR
iy g1 N ! W s e ... A3} pyecsica)
reigpnrs nmm"ﬁrm v Ay gl idkuitive
usd orw seolls gneie D L W0t angRan Ty

et armﬂmﬂm wniv T ST LAY S

o m _
« yreilhxs ;ma:nd MI’”W pemals 1o

wn u OOI‘ 4
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Note :

Section—II
wvg—II

(English Language Comprehension)

Attempt all the 20 questions in this Section, if you do not opt for S8ection—III on Hindi
Language Comprehension.

Four alternatives are given as possible answers to each question. Give the correct choice
as an answer. -

Directions :  (Question No. 131-135) Read the following passage carefully and answer the

(169)

questions based on it.

The foreign medium has caused brain-fag, put an undue strain upon the nerves of
our children, made them crammers and imitators, unfitted them for original work
and thought, and disabled them for filtrating their learning to the family or the
masses. The foreign medium has made our children practically foreigners in their
own land. It is the greatest tragedy of the existing system. The foreign medium has
prcventedmcgrowthofourvmculam.lflhadthepoweraofadnpot,lwou]d
today stop the tuition of our boys and girls through a foreign medium, and require all
the teachers and professors on pain of dismissal to introduce the change forthwith.

I would not wait for the preparation of textbooks. They will follow the change. It is
an evil that needs a summary remedy.

My uncompromising opposition to the foreign medium has resulted in an
unwarranted charge being levelled against me of being hostile to foreign culture or
the learning of the English language. No reader of young India could have missed the
statement often made by me in these pages, that I regard English as the language of
international commerce and diplomacy, and therefore consider its knowledge on the
part of some of us as essen ial. As it contains somg of the richest treasures of thought
and literature, I would certainly encourage its careful study among those who have

linguistic talents and expect them to translate these treasures. for the nation in its
vernaculars.

Nothing can be farther from my thought than that we should become ext;.luaive or
erect barriers. But [ do peapectfully content that appresiation «of othet cultures can
fitly follow, never precede, an appreciation and assimilation of our own.
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131. How has the foreign medium unfitted Indian children for original work and thought?
| " (1) Indian children do not get sufficient time to write books

(2) Indian children do not get sufficient time to learn their own language

(3) Indian children become crammers

(4) Indian children become pompous and care a fig for their own language

132. -Whyha‘mitmdethemfowignmintheirmland?
(1) They pick up an alien culture and a language at the cost of their own
(2) They hate their own native thoughts and jdeals
(3) They prefer to look like foreigners both in appearance and speech
(4) They become arrogant and dont respect their elders

133. To what extent does the author consider a knowledge of English necessary for India?
(1)” It is likely to bring about umty in diversity
(2 Itis neoeuary" for looking smart and upﬁo—d#te
3) It is mecesmary for science and technology

{4) It is necessary for international trade and for managing relations between India
and abroad

184 Why shouli the linguistically-talented alone be étitburaged to study English carefully?
.- (1) English is a difficult langnage. It can't be studjed by ordinary Indians
TP T R A R A AT SR e
" (@ They will get jobs abroad and will bring foreign currency to India

# They will render the thought and literature spuilgile o
languages | R

(4) .English should be studied only as a mark WPHufiin

(169) 41 (P10,)
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135. In what relation should the appreciation of other cultures stand to the appreciation of
one’s own?

(1) Appreciation of other cultures is more important than the appreciation of one’s
own

(2) Appreciation of one’s own culture is more important than the appreciation of other
cultures

(3) There shouldn't be any discrimination in the appreciation of different cultures of
the world including one’s own .

(4) Appreciation of other cultures should be a formality only. It shouldn't be attached
much importance

Directions :  (Question No. 136-138) Select the word nearest in meaning to the given italic

word.
136. Twister
(1) Tongs (2) Spanner (3) Tornado (4) Tumbler
137. Yen
(I) Longing (2) Hatred (3) Lechery (4) Serenity
138. Vapid
(1) Dignified (2) - Invalid  (3) Valid ~ (4) Dull

Directions :  (Question No. 139-141) Select the word opposite in meaning to the given italic
word. '

139. Vanguard
(1) Front guard (2) Bull guard . (8) Back guard (4) Rearguard

(169) P
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140. Spartan

(1) Hardy (2) Luxurious (3) Adventurous (4) Severe
141. Saucy

(1) Dictatorial (2) - Polite (3) Stupendous  (4) Piquaint

Directioas : (Question No. 142-144) Choose the preposition that correctly completes the

142. The essay abounds

grammatical errors.

(1) with (2) in (3) at (4) of
143. He was abeolved — the sin he had committed.

(1) of (2) from (3) at _ (4) in
-144. The story is replete pictures.

(1) from (2) of (3) with (4) in

Dirostess :  (Question No. 148-147) Choose the word that doesn't belong to the group.

148. (1) Abominable  (2) Sordid (3) Sprightly (4) Odious
M. (9 Mm (2) Zebu (3) Python (4) Okra
7. () Aquaum (2 Oasis (3) Splinter - M.t
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Directions :
148. (1)
(3)
149. (1)
3)
150. (1)
(3)

(169)

(Question No. 148-180) Identify the part having an error.
Jim is elder (2) than a 20-year old,
Mumbai born (4) friend of mine
Radha suggested me (2) that I should
buy a car (4) which runs 400 km per hour
He took me ‘ (2) to an hotel

and introduced me (4) to an Ukrainian merchant
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_ mﬁ(1),(2),(3)u(4)mtm-mhﬁhmﬁ&ni! ﬁnﬁitdfm

(4) waWw

(4) ™

(4) wgTRw

(4) wdfeRm
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186. ‘ww’ # #-@ s 27
(1) #d 2 3f 3) =™ 4) R

187. = % A fem we F 3ot w1 W@ T X7
(1) wam ' (2) 3IEm (3) &M (4) . WM

158. ‘T’ w Wik d Bar 2
(1) ®{u 2) fram (3) faure 4) fasdz

189. A ¥ ¥ warwares wdm ¥ 47
(1) = (2) #= @ @ (4) =

160. f= & 3 #9 fwd Qar 27

(1’) =g (2) @m (3) fadwmr (4) wdTmwm

161. R § am’ ¥ fm Fa w
(1) =y - (2) wFafh (3) wxfh 4) w=fh

162. ‘Igg ® ad ¢
(1) F&d N ¢ e ?) 12 " v
3) A v @) N w vy

(169)



164.

166.

167.

(169)

(1) Yo wanwme@ Iew

(3) AR

W kR A B 47

B 32 B g T W R

(1) ™ Ru Anh
(3) TwrRey Memh

Y’ ot §R 7

(1) &ga fo

(2) Rem

A d A A g R T@ 7

(1) =R

(1) ™™ v fardi

 (3) wewpw wei e

(2) R=mfh

)

@

' ARAT AN AW A AT &N @A 07

(2)

@)

(3

3)

()
@)

W e g R o fed 87

(1) ghem=w o

(2) wer#h ami
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weren wtd

WA TRRw

TR T2

14P/246/30 Set No. 2

(4) wgh

'(4) fren
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169. - ifow Ium & o = w27
(1) sradrere aui (2) woftyaemg 9 (3) TwuE (4) I¥a

170. ‘voue’ ¥ WATHR &
(1) RRw T (2) FoR™ (3) w7 (4) TvRR

*hw
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